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bLBsMAL Agegabonmodal godmbLabzal bymbgydo
6L6sMYON Bofoemo I
IMAIBoOs 650100 dMIOYMTD
bLbsMal dgeagboemmods dgndmyds godmslabmor Mmgmmis NgsbBmanmazdm Longadom
(6030009700l dmennmo, ImEymmonmn s dsbyma Homgdno fomowiddo sb %-30d0n), abg
396Bmangdal djmbg Lowonxd0m - 3MBEI6EMI30Y00M. gl Loonggda.:
»  9sbymo foano

»  dmgnmmonon Hoamo

»  dmammo foemo
»  dmmnmo 3mbEgbEMmagns/dmmammods
>  Gmmommdy

> §yosmds-0mbydnl 3mbEgbEMaEnal goblobmsms pH Lismmom

85b630b0Mmo mnomgnmo dsmgsbo.
» bo3zmogmydal dobymo foamo

dobypmo Homo (W) Yasbbmdnmgdm bnnys s Bmaos goblboma bozmogmadal dobinl
J9x30M©700Ls BLBESMAL BoldbMSL (%-7030 go8Mbob3nLyM30L IMO3eNCgdS 100% -B]):

M 60500
w = —2
My
M 60500
w = X 100%
My

3obLbnMo bnzongMydal  Fslym Hoambs s S bLBsEMASL AmMal sMLxdMdL 78cya0
33M30x0NmMId.:
S
s+100

-100% (1)
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dogomomon

890Mm35M90 30eM07dal byenxizs@ ol bbsomos 10°C-Bg, 01y dofmagal dsbyma foeman
PyoamblLboman oMol 8,44%.

3dmbL6S

S
$+100

w = 0,0844
s=7?

S
s+100

=0,0844

s =0,0844 (s + 100)=0,0844 s + 8,44
0,9156 s = 8,44
S$=09,223

3sbgbo:  SK)6p, =9,223

» bo3mogmydal dmEznmmonon foeno

b6030009M700L dmEyemonmo oo (p smnb gobbboman bozmngmgoal mEnmmodnl 3smEmody
bLBbsML dmEymMmMOSLOSL:

_ V50307

go_

Vi
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dogomomon

100am s33&mMbn 8obsBo3gl Hymonom 2000m-0c0g. godmmzsmgo s33EmMbal dmEgymmodnman Homo
d0myoym bLbsmAn.

3dmbL6S

1038¢»
VBQsm = 106@ VbL\ = 2008@ (p =

= = 0
200ae~ 05 (5%)

3sbmbo: 0,05 o6 5%

> bo3onngMmydol dmemymo Hoemo

B0303Mmgd0l dmeymo Gomo A sfobs gsblBoamn Bagongmgdal n dmangdal Mogbzal Bsmomds
bLbsMal y3gms 3m33mbab@ ol dmengdal xod1M MoEb3masb.

m3ma33mbybEnsbo bLBstMnbo3z0l (goblbogmn Bn3zmngMyds s godblibgana) AmenyMmo Hoemo
850M003eMYds BMM3IYE0o:

N6og00

Abogor = 3)
bozo N6og0 + N gs50bls

dogomomn

3003 goobmamn goblbgl 5008 §ysendn. gedmozomgo gosbmaal dmenyMmo Homo Tomgdnm
bLbsMdon.

S3mbLBS
3056g85Mndmo gonsbmmabs s Hymal dmenma dobgdo s mmagdals Mogb3zo:
M(C,HsOH) =24 + 6 + 16 = 46 8/dmamo

M(H,0) =183/8mmon

3003

N¢,Hs0H = PrVE - = 6,52 9o CHsOH
_ 5003 _
20 = Tay/amc0 27,7 9o C;HsOH

(3) 3mMmBmolb ;sbsbds
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Nc,H50H

ACZHSOH ~n
C,H5OH+ nH,0

bLonELbE

6,52 deaqro 6,52 Gezewo
Ac,Heom = =
245 6,52 dragro+27,7dmero 34,22 Besgve

=0,19

3obbo: 0,19

» 9mmymo 3mbEab&mogns/dmmommos

6030009M700L dmmyMo 3MbEIbEMSE0S (M 86 Chy ) BMm0s asblbomo bozmngmgdols Momgbmodol
(n Bmmgdal Mogb3zal) gssmegdal bLBsMal BmEnmmoslosh (ma@myddn):

N6og0m
M-—2

Vbis

56 Gmemsmdab gfhongnmos dmeno/m.

dogomomn

3o0mm35mgon nd bLbsMal dmenyfo 3MbEybEMegns, Mmdmal 2,2en dg03o3L 2843 boEMmoydals
JonmMmogob.

3dmbLbS
Myqcr = 2843 Myqci = 58,5 g/ 8cx¢mo Nyger = T;z—zzi
_ 2843 _
Nyacl = So5g/ G 4,87 dmano
_ 4,87 deagmo

= 2,218m¢mo/¢» =2,21M

2,2¢v

3obmba: 2,21M

>  9mmmommmdy
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dmmammods , M, Gmmns gobbboamo bo3onghgdgdol Mamgbmdal (dmamgdal Mogbzols)

97330M00Ls 3o3bLBgMNL Asbobmsb (33-80). dmmsmmdal ghogymos dmano/3a.

N 60500
m = (5)
M 55860

dogomnomn

890mm35mgo Hyamab dobs, MmIgeoE Ybs sgds@mUL 5,83 gennzymMobl (CsHs0s), Mm3

3BoEal 0,1m dmmmommodal bLbsmo.

39mbLb6S

58,3

M63H803 =92 3/5(’2@0 Mc3Hg05 = 5'85 NcsHgos = 92 8/ deaem

(7) 3mM3ymnsb 3056g5M0dmon godblbgemals Bobs:

N6ogom
Mysapp = — (6]
__ 0,063dmero _
Mas06b = o1 gmanolgs 0,6338 = 6308 H,0

3abmbo. 6303 H,O

bLB6sMAL pH-0b gobloBmzMmo

= 0,063 0m¢ro

Pyomdse-0mbydals 3mbigb&Mmoisnol goblobBmams dgbadmgdgmns pH bisemal godmygbgydoom. pH -
ol 3603363cm0s 033eMads 0-0sb 14-8c]. bgo@momyma bLBsMydabomznl pH=7, ooy pH < 7,
bLBbsMUL 796705 B3935 o7, Bmemm o1 pH > 7, BLBbsML 9306700 GYE oM3.

bLBbsMaL pH sfals Hysmods-ombgdal 3MbigbEMaznal cnmasmomdnl Yomymaznon 8603369mmods:

pH =-log[H*]  (7)
Sbogmmaonymoco, 3ncommibog-0mbydnl dgdmbagssdo g3ggbgds:
pOH = -log[OH"] (8)

pH-bs s pOH-b MMl sMLYOMOL COdMInEgdNMYdY:
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pH + pOH =14 9)

sbamo go30bLgbmo, Mmd Hymob obminsznol 3mbLESLBES( Kw ,water - fysmmo) godmom3zmgds
xmMImoo:

Kw =[H] x [OH] =1x10%*  (10)

95535 sy pH < 7 [H] > 1x 10" M

Bao@Mmomymo sy pH=7 [H] = 1x 10" M

GBI oy pH > 7 [H] < 1x 107 M
dsgomomon

898mm3smam blbsfmols pH, 01y 8sd0 3neMmibo-0mbBydal 3MbEgb&Mssnss [OH] =1 x 10 M.
S3mbLBS

28mEsbal 3nMmdL Mobobdsco, [OH] =1 x 101 M. 300635M08mo §ysando-0mbgdals
3mbgbBMmoins [H]:

[H*] x [OH] =1x 10 M?

1-10"14Mm?

— 10-3
1-10-11M 107 ™

[H] =
pH = —log[H*] = —log[1073] = 3

3sbybo: pH=3




